il
W
St
%
I

1. TE4
THE4 AN 6 RS SR IE R EAAES 1 9 T LF
THEHA S 055 WL A2 ZE ARG FE BT 25T Hi N
2. THEHNE
1)  HEI4 IR EREEEET LR
2) £ I & W - JEEAEEY T H
3) T i 3330 [ H A T4 48 1H
= SFn 84 2H27H
4) TEyE

[E-Amd T ET R




il
W
>
%
I

THEL | A6 FELRHMERAMERGHE 1 9 THLHE

TSy « TfE - FER B {7 ¥ & & A bl A iR
&G TR =X 1 132, 123, 257
BT = 1 17, 662, 400
P v T = 1 17, 662, 400
RCHE AT = 1 104, 068, 036
EELT = 1 669, 445
BT FTHL T 2 1 50, 284, 545 | ATFTHL 16 N
Bt 1200mm Bk GREMHR) 26.5m 2v7)-h(65)
FHIA Ob-27) 530 m3
+4)
e 35 m3
)b (EFD EEm &0 b L
By 35 m3
/) - bk BEA%)
& IR {4 L = 1 53, 114, 046 | JEREHF 120 m2
RC-40 t=20cm ;
BLay)-h 120 m2
15 t=10cm ;
/7Y =} 323 m3
5% ;
/7Y =} 483 m3
25
i53i0) 23.19 t
SD345 D38 ;
i53i0) 64. 92 t
SD345 D29~D32 ;
ki 27.12 t
SD345 D16~D25 ;
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TEHX4y « Tfd - FER & F iR
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s ! A
SRR
KPR 1 2
Jes ) 1 2
I 2 11 7R e 12 (&0
$ 200 L=870mm ;
I 2 11 7R e 12 (&0
$ 200 L=900mm ;
EET & 2 2 (&0
$ 200 ;
HIFE L Ik 172 m2
WA IR T Y 54, 330
ST Y 54,330 | &R 1 e
A Y 10, 338, 491
B - ARG T = 10, 338, 491
JE O R = 14, 991, 998
EHET Y 3,114, 816
A T Y 73,094 | #EH! 230 m3
+4)
AR LT Y 45,432 | BRI (BEER) BE 1 8 m3
2. bmATH ;
ARSI LT Y 9,114 |BIRIRE L 70 m3
FEHEER T Y 12,456 |VEEETE (%) 30 m2
+4)
AL T =Y 2,974, 720
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L 2 1 12,570
fliAE T = 1 12,570 | FlE-7-Hfh 30 m2
HEKHEEY T = 1 1,377,631
EELT = 1 85, 363
T = 1 1,087,868 |7 VEyA bR 54 m
PU3-B300-H300
H H A B 23 m
1 5B A%
NS 18 e
a/))-hEgE
B300-L500 H FAEMRITE ;
NS 2 #
AT VA
T-25 B300-L1000 I B & WvhEE
B A B
HH
BT = 1 99,400 |EKkHaVII-MEFTE 7 m
CP-PH—D300
AR v T 2 1 105,000 |B3GFT HAEKHE 1 (£
61-B500-L500-H700
= 2 e
/) -hEgE
GC-B500-L500 ;
LT 2 1 5, 245, 610
TA7 7 Ml T 2 1 5,245,610 | F/@K& (I - KEEH) 580 m2
RC-40 t=150mm ;
b R (HEE - BRI ) 578 m2
RM-40 t=150mm ;
e e (R - T ) 574 m2

HEASZE EALHE (30) £=90mm ;
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g (I - BIF ) 573 m2
AR AR T (20) £=50mm ;
g (I - BIF ) 572 m2
FRIEEASSUE T (20) £=50mm ;
X JEj R L 262, 783
X IR T 262, 783 | P mh X iR 260 m
Hf FERE W=15cm JE1. Smm ;
TR X R 78 m
H iR W=30cm JE1. 5mm ;
TR X R 67 m
Hfa KE1-F05 - 305 15emffaE J2 1. Smm ;
HEAT B MR T 73, 472
/NIRRT =X 73,472 | A 1 e
1B/ N
TEERARAR 2 r5e
TR 6600 ;
HEYE T =X 1,174, 436
B R A 2= L 2 88, 781 |BHEEMIHHEE (0 =1 V=) 77 m
RS L =X 26, 720 | PR 1 =X
HEETE LT X 430,999 | av7)- MRS L 7 m3
HERTHEED)
ERZE IR 27 m
TAT7 VIR EERR t=15em%Z 8 2 30cmPA T ;
EhAE AR AR 410 m2
TAT7VIEREERR t=15em%Z 8 2 30cmEA T ;
TR AL T 627, 936 %gﬁmy 7 m3
)bk (HEAT)
*&@ﬂx 78 m3
TAI 7
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RISy 7 m3
/) -k (BERR)
RISy 78 m3
TAT7IV NS
A Y 1 2,051, 640
IR B AT 1 2 1 2,051, 640 | % Bh#EM 123 m
Gr-B-2B ;
A Y 1 1, 679, 040
AEEH L Y 1 1, 679, 040
[ERAE Xy = 1 147, 115, 255
IR 2 1 23,712, 238
BISTIGE: = 1 7,122, 238
TERE 2 1 4,213, 438 | EE AR RRASAR oy fARE ST s 1 =
EERC T Sy A ERVA e <y 1 =
IR TR 1 =
HeffrE sy = 1 58, 800 | 18 & fiti i FeANT —HERKEY 1 =
BGRESCGES (5 1) = 1 2, 850, 000
B (FEHL) = 1 16, 590, 000
T = 1 170, 827, 493
Bl gy 2 1 50, 641, 000
T =5l = 1 221, 468, 493
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— R A = 32, 451, 507
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